INSULATE

#8/GROUND
TAB
— 1

POWER
CORD

MOJOTONE SUPER REVERB WIRING DIAGRAM

,@E\

T
SPEED BASS H MIDILE TREBLE H VOLUME
3M Rev log 250K Log H 10K g 250K Log H ™ Ly
o[
1 . @ @@ @ @ @ @ 0O O 00O 0O OO0
ool S
o
g 5
#8 GROUND N Z
TAB - > S ;
— O
/7
7 =
/, & N % e)
/,
7
/ 0JO76
PO O
/,
) MOJO777
I CHOKE
I oC A N\ MOJO774
- H ; OUTPUT TRANSFORMER
I i
6 6 v
4 4 1
3 8 3 8
4
INSULATE R
6L6GC 6L6GC 12AT7

\\\\\\\'M

2 AMP.
FUSE

GROUND

ON/OFF

HARDWARE:

20 QTY 4-40 X 1/4" SCREWS FOR NOVAL TUBE SOCKETS, BRIGHT SWITCHES, AND CAPACITOR PAN

6 QTY 4-40 X 3/8" SCREWS FOR OCTAL TUBE SOCKETS

26 QTY 4-40 KEPS NUTS

7 QTY 6-32 X 1/2" SCREWS FOR EYELET BOARDS

7 QTY 6-32 KEPS NUTS

8 QTY 8-32 X 1/4" SCREWS FOR REVERB DRIVER, OUTPUT TRANSFORMER, AND CHOKE

4 QTY 8-32 X 3 1/4" SCREWS FOR CHASSIS

16 QTY 8-32 KEPS NUTS FOR CHASSIS, POWER TRANSFORMER, OUTPUT TRANSFORMER, REVERB DRIVER, AND CHOKE

\l

STANDBY

SPEAKER

\‘ 10nF |

[ 10ny

| 20nF

EXT.
SPKR.

TREBLE \
250K Log

RS

%o

12AX7
7025
ECC83

o

VIBRATO
PEDAL

QO

=

REVERB
PEDAL

%0
Q

0JO0776
RE B DRIVER

12AT7
REVERB REVERB
OUTPUT INPUT

mnﬂn®

T AN E=

0o
o

i

9 9
8 8
1

6 6
sg 3 s, 3
— -
12AX7 12AX7
7025 7025
ECC83 ECC83

SUPER REVERB
REVISION 2
8/17/2022






